4. 4 [Option ID = 820]
Topic:- 14_GP_SH2_Set2_A

1) The following table shows the percentage (%) distribution of students studying insix classes A-F of a school
and shows the ratio of boys to girls among them. Number of students studying inall six classes together is
600,

Class-wise distribution of students

Ratio
Class|%Students Boys:Girls
14 20% 32
I2] 12% 31
c 16% 5
D 15% a7
E 21% 4:3
F 16% 1:1

The average of the number of girls studying in all six classes, A<F, is

1.41
2.42
3.43
4,44

Fgfaiag aifad U [9ded @1 98 HE3 A-F H HE0-<a [qaniial o faoww ulage (%) 3R 398 4 95@!
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B 12% 31
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E 21% 43
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1.41
2.42
3.43
4. 44

[Question ID = 556][Question Description = 101_0_GP22_SEP22_S2_Q01]
1. 1 [Option ID = 2221]
2. 2 [Option ID = 2222]
3. 3 [Option ID = 2223]
4. 4 [Option ID = 2224]



2) The following table shews the percentage (%) distribution of students studying insix classes A-F of a schoal
and shows the ratio of boys to girls among them. Number of students studying inr all six classes together is
600.

Class-wise distribution of students

Ratio
Class|%Students Boys:Girls
4 20% 32
8 12% 31
c 16% 5
D 15% a:7
'3 21% 4:3
F 1636 11

The difference between the number of boys and the number of girls in all the six classes A-F together, is

1.102
2.114
3.106
4.108

Fafufag aiftie te [ae™ & o8 densl a-F H sfwg-a [qanfiaf o foow ufaes () SR 398 4 osaf
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1.102
2114
3106
4,108

[Question ID = 557][Question Description = 102_0_GP22_SEP22_S2_Q02]
1. 1 [Option ID = 2225]
2. 2 [Option ID = 2226]
3. 3 [Option ID = 2227]
4. 4 [Option ID = 2228]



3) The following table shows the percentage (%) distribution of students studying in'six classes A-F of a school
and shows the ratio of boys to girls among them. Number of students studying in all six classes together is
600.

Class-wise distribution of students

Ratio
Class|%Students Boys:Girls
A 20% 32
B 12% 31
c 16% B
D 15% 2:7
E 21% 4:3
F 16%6 11

In the given pair of classes, which two classes have an equal number of boys in them?

1.Aand C
2.Cand F
3.DandF
4. EandF
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1.AMRC
2.CHRF
3.DIARF
4. E3RE

[Question ID = 558][Question Description = 103_0_GP22_SEP22_S2_Q03]
1. 1 [Option ID = 2229]
2. 2 [Option ID = 2230]
3. 3 [Option ID = 2231]
4. 4 [Option ID = 2232]



4) The following table shows the percentage (%) distribution of students studying insix classes A-F of a school
and shows the ratio of boys to girls among them. Number of students studying in all six classes together is
600.

Class-wise distribution of students

Ratio
Class|%Students Boys:Girls
A 20% 32
B 12% 31
c 16% B
D 15% 2:7
E 21% 4:3
F 16%6 11

If'P and Q are the differences between the number of boys:and girls in class A and class C, respectively,
then the percentage of P with reference to Q is

1.80%
2.120%
3.100%
4,.90%

Fofafag afee oo faacy #1 o Tl A-F F oagsg faenfiat &1 e uiges (o) SR o8 9 a9t
@1 Tsiedl ° U a2l o) T S8 Herl ¥ g [Gaidal ®1 $d 9B 600 3| ol § SRl ®
YR TR Al & g Gifae :

faeTieal &1 Ha-ar faawo
iG]
W& (36 Faepedf e
A 20% 3:2
B 12% 31
% 16% 5:3
D 15% 87
E 21% 43
F 16% 141

e BT A 3R BET ¢ H dS@! A7 asihyl & 4= 8 AdT BE: P AR Q & Q & g H p &1 ufawd
fEarg 7

1.80%
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3.100%
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[Question ID = 559][Question Description = 104_0_GP22_SEP22_S2_Q04]
1. 1 [Option ID = 2233]
2. 2 [Option ID = 2234]
3. 3 [Option ID = 2235]
4. 4 [Option ID = 2236]



5) The following table shows the percentage (%) distribution of students studying in'six classes A-F of a school
and shows the ratio of boys to girls among them. Number of students studying in all six classes together is
600.

Class-wise distribution of students

Ratio

Class|%Students Boys:Girls
A 20% 3:2
B 12% 31
c 16% 53
D 15% a7
E 21% 43
F 16% 11
Numberof boysinclass Bis % more than the number of girls in class F.

1.8.5%

2.12.5%

3. 15%

4.17.5%
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1.8.5%
2.12.5%
3.15%
4.17.5%

[Question ID = 560][Question Description = 105_0_GP22_SEP22_S2_Q05]
1. 1 [Option ID = 2237]
2. 2 [Option ID = 2238]
3. 3 [Option ID = 2239]
4. 4 [Option ID = 2240]

Topic:- 14_GP_SH2_Set2_B



1)
While designing assessments, teacher must focus on which of the following as per Outcome Based
Education (OBE)?

1. Activities

2. Reading material
3, Pre-reguisites

4, Learming outcomes

HET @) ABg BYd 999, TRoTH-YRE e (i di3) & ofar suwuE »l FE d 9 g W
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3, gaieni
4, 3T givong

[Question ID = 561][Question Description = 106_0_GP22_SEP22_S2_Q06]
1. 1 [Option ID = 2241]
2. 2 [Option ID = 2242]
3. 3 [Option ID = 2243]
4. 4 [Option ID = 2244]

2)
Which of the following are correct in the case of Learning Management System (LMS) 7

A, LMS is a software.

B, LMS tan be used for virtual teacher-student groups.

C. LMS is a hardware,

D. LMS can be used for online guizzes.

E. LMS can be used for making institutional websites,
Choose the correct answer from the options given below:

1.4, Band E enly
2.B, Cand D only
3. A BandDonly
4 A B DandE only
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[Question ID = 562][Question Description = 107_0_GP22_SEP22_S2_Q07]
1. 1 [Option ID = 2245]
2. 2 [Option ID = 2246]
3. 3 [Option ID = 2247]
4. 4 [Option ID = 2248]

3)
Which of the following toels can be used for traditional offline teaching?

1. Projector

2, Powerpoint

3, Physical models
4, LMS
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1, FafE (FeER)
2, UEEE<

3, Wifd® ufgey
4 UHEHTE.

[Question ID = 563][Question Description = 108_0_GP22_SEP22_S2_Q08]
1. 1 [Option ID = 2249]
2. 2 [Option ID = 2250]
3. 3 [Option ID = 2251]
4. 4 [Option ID = 2252]

4)
The development of MOOQCS for undergraduate disciplines has been given to which of the following

National Caerdinators?

1. 1IM Bangalore

2, Al India Council of Technical Education (AICTE)
3, Consertium of Educational Communication (CEC)
4, Indira Gandhi National Open University (IGNOU)



qEaTad faual & g .. . &1 el o @ o Feiiiad | 9 e Wi vdiee o) o g

1. 313, 3204, §TER

2, JiaT YA ae-ie] (a1 RYg [@HEdAs)
3, Yt 99R dom ({is.90)

4, 33T T 1T A (9T 39)

[Question ID = 564][Question Description = 109_0_GP22_SEP22_S2_Q09]
1. 1 [Option ID = 2253]
2. 2 [Option ID = 2254]
3. 3 [Option ID = 2255]
4. 4 [Option ID = 2256]

5)
"Eduration is the manifestation of perfection already in man" was stated by

1. Rabindranath Tagere
2. Swami Vivekanand
3. M. K. Gandhi

4, 5ri Aurcbindo
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[Question ID = 565][Question Description = 110_0_GP22_SEP22_S2_Q10]
1. 1 [Option ID = 2257]
2. 2 [Option ID = 2258]
3. 3 [Option ID = 2259]
4. 4 [Option ID = 2260]

6)
Both gualitative and quantitative research are concerned with

1. Data reduction

2, Artificial settings
3, Uniformity of data
4, Social fantasy
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[Question ID = 566][Question Description = 111_0_GP22_SEP22_S2_Q11]
1. 1 [Option ID = 2261]
2. 2 [Option ID = 2262]
3. 3 [Option ID = 2263]



4. 4 [Option ID = 2264]

7)
The snowball sampling method can be employed in

1. Historical research

2, Ethnographic research
3. Content analysis

4, Narrative analysis
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[Question ID = 567][Question Description = 112_0_GP22_SEP22_S2_Q12]
1. 1 [Option ID = 2265]
2. 2 [Option ID = 2266]
3. 3 [Option ID = 2267]
4. 4 [Option ID = 2268]

8)
Which of the following are the products of grounded theory?

A, Experimental framework

B. Concepts-

C. Hypotheses

D. Attributes of a category

E. Theoretical dilution

Choose the correct answer from the options given below;

1.4, Band C only
2,.B, Cand D only
3,C, D and E only
4 A Band Eonly
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[Question ID = 568][Question Description = 113_0_GP22_SEP22_S2_Q13]
1. 1 [Option ID = 2269]
2. 2 [Option ID = 2270]
3. 3 [Option ID = 2271]
4. 4 [Option ID = 2272]

9)
Which of the following are of practical sigrificance in research?

A, Social pressure

B. Research topic

C. Research design

D. Research methed

E, Comparison with fellow researchers

Choose the correct answer from the options given below:

1.4, Band C only
2.4 DandEonly
3.C, Dand E anly
4 B, Cand D only
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4, FHAEB, C AR D

[Question ID = 569][Question Description = 114_0_GP22_SEP22_S2_Q14]
1. 1 [Option ID = 2273]
2. 2 [Option ID = 2274]
3. 3 [Option ID = 2275]
4. 4 [Option ID = 2276]

10)
Given below are two statements:

Statement I: A research design is blueprint that guides the use of a research methed and analysis of
data.

Statement lI: A research design is in no way connected with the expression of causal relations between
variables.

In light of the above statements, thoose the most appropriate answer from the options given below:

. Both Statement | and Statement |l are correct
. Both Statement | and Statement || are incorrect
. Statement | is correct but Statement Il is incorrect

J5 WM =

. Statement | is incorrect but Statement || is carrect
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[Question ID = 570][Question Description = 115_0_GP22_SEP22_S2_Q15]
1. 1 [Option ID = 2277]
2. 2 [Option ID = 2278]
3. 3 [Option ID = 2279]



4. 4 [Option ID = 2280]

11)
Mediated communication reflects

. The communicator's cultural background
.Social expectations of the under-privileged
. Ethical desires of the society

. Majoritarian hegemony of language
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[Question ID = 571][Question Description = 116_0_GP22_SEP22_S2_Q16]
1. 1 [Option ID = 2281]
2. 2 [Option ID = 2282]
3. 3 [Option ID = 2283]
4. 4 [Option ID = 2284]

12)
Meaning of transmitted message in communication is a

1. Sender activity

2, Receiver activity

3, Channel activity

4, Collaborative activity

TN H U Heu o 3 §

1, U9& &1 [adad
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3, I @] [hareany
4, FEATTED (paieag

[Question ID = 572][Question Description = 117_0_GP22_SEP22_S2_Q17]
1. 1 [Option ID = 2285]
2. 2 [Option ID = 2286]
3. 3 [Option ID = 2287]
4. 4 [Option ID = 2288]



13)
Which of the following are the traits of non-verbal communication?

A, It has limited meaning.

B, It does not have substitution,

C, It can convey contextual meaning.

D. It ean influence receptors:

E, it can affect personal relationship.

Choose the correct answer from the options given below,

1.4, Band Conly
2.B, Cand D only
3.C, Dand Eonly
4 A DandEonly

ENfeg® THINY B HRfeRad o 9 @ [AYea 8 7
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2, ®ad B, C IRD
3, &aEC, DARE
4, FHaAA DIARE

[Question ID = 573][Question Description = 118_0_GP22_SEP22_S2_Q18]
1. 1 [Option ID = 2289]
2. 2 [Option ID = 2290]
3. 3 [Option ID = 2291]
4. 4 [Option ID = 2292]



14)
Given below are two statements:

Statement I: One of the critical elements in the conceptual definition of communication is the level of

observation.
Statement II: We should not forget the factor of intentionality of communication to understand it.
In light of the above statements, thoose the correct answer from the options given belew;

. Both Statement | and Statement |l are true
. Both Statement | and Statement || are false
. Statement | is true but Statement Il is-false

J5 WM —-

. Statement | is false but Statement [l is true

gy REEE:
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3, @Y | el &, (oorg oY 1 Tad &
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[Question ID = 574][Question Description = 119_0_GP22_SEP22_S2_Q19]
1 [Option ID = 2293]
2 [Option ID = 2294]
3 [Option ID = 2295]
4 [Option ID = 2296]

A wnN =

15)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : As regards communication, a major function is to build, manipulate and use symbels.
Reason R : One of the functions of communication is to entertain the receivers,
In light of the above statements, thoose the correct answer from the options given below;

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, Ais false but Ris true
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[Question ID = 575][Question Description = 120_0_GP22_SEP22_S2_Q20]
1. 1 [Option ID = 2297]
2. 2 [Option ID = 2298]
3. 3 [Option ID = 2299]
4. 4 [Option ID = 2300]

16)
In a certain coding scheme 'MOTHER' is coded as "OQVIGT. How will 'PARTNER’ be ceded in the same

coding scheme?

.RDUTOHU
.REUTORHU
. RETUOGT
. RCTVPGT

da LW =

18d ©e TS H "MOTHER' & fST '0QVIGT ¢ 241 T4 81 THi $¢ IS H 'PARTNER' & fog &e &1
B 2

.RDUTCHU

 REUTOHU

1
2

3. RETUOGT
4, RCTVPGT

[Question ID = 576][Question Description = 121_0_GP22_SEP22_S2_Q21]
1. 1 [Option ID = 2301]
2. 2 [Option ID = 2302]
3. 3 [Option ID = 2303]
4. 4 [Option ID = 2304]

17)
Two numbers are in the ratic of 6:7. If 12 is addad to sach of the numbers; their ratio becomes 7:8. Find

the twaz numbers,

1.72, 84
2.84, 96
3.84, 98
4,96, 84
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1.72, 84
2.84,96
3.84, 98
4.96,84

[Question ID = 577][Question Description = 122_0_GP22_SEP22_S2_Q22]
1. 1 [Option ID = 2305]
2. 2 [Option ID = 2306]
3. 3 [Option ID = 2307]
4. 4 [Option ID = 2308]

18)
The average weight of 25 students of section A of a class is 60 kg, whereas the average weight of 35

students of section B of the same class is 62.5 kg. Find out the average weight of all the 60 students of
the class,

.60.5
. 62.2
.61.2
L6146

da W -

o BaT & A ) & 25 faanidal @1 3i9d 4R 60 . &, 96i® o4 @& & 8 o7 & 35 faeniéal & g
YR 62.5 [BU1. B | T&1 P 94 60 [aenidial &1 3igd 4R g @iieg 7

1.60.5
2.62.2
3.61.2
4.6146

[Question ID = 578][Question Description = 123_0_GP22_SEP22_S2_Q23]
1. 1 [Option ID = 2309]
2. 2 [Option ID = 2310]
3. 3 [Option ID = 2311]
4. 4 [Option ID = 2312]

19)
Simple interest accrued on a certain sum 'is 16/25 of the principal sum. If the numerical value of the rate

of annual interest (%) and time (years) are equal, what is annual rate of interest?

1.10%
2.7%
3.6%
4.8%
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1.70%
2.7%
3.6%
4.8 %

[Question ID = 579][Question Description = 124_0_GP22_SEP22_S2_Q24]
1. 1 [Option ID = 2313]
2. 2 [Option ID = 2314]
3. 3 [Option ID = 2315]
4. 4 [Option ID = 2316]

20)
Find the missing term in the given series,

16, 20, 25, 30, 36, 42, 49, 7

1.91
2,64
3.56
470

21 TS 4@e ¥ O UG 91 DI ;

16, 20, 25, 30, 36,42, 49, 7

1,891
2,64
3. 56
4.70

[Question ID = 580][Question Description = 125_0_GP22_SEP22_S2_Q25]
1. 1 [Option ID = 2317]
2. 2 [Option ID = 2318]
3. 3 [Option ID = 2319]
4. 4 [Option ID = 2320]

0 If the statement, ‘Some officers are not honest' is given as false, then which of the following statements
gan be inferred to be true?
A, All henest beings are officers
B. Some officers are honest
C. No officers are honest
D. All officers are honest

Choose the correct answer from the options given below;

1.8 only
2, D only
3.A and Conly
4 B and D only
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[Question ID = 581][Question Description = 126_0_GP22_SEP22_S2_Q26]
1. 1 [Option ID = 2321]
2. 2 [Option ID = 2322]
3. 3 [Option ID = 2323]
4. 4 [Option ID = 2324]

22)
For which of the fellowing forms of categorial propositions contraposition is valid?

A SomeSisP

B.Seme Sissnot P

C.NcSisP

D.AllSIisP

Choose the correct answer from the options given below;

1.4, Cand Donly
2.A, B CandD

3.4 Band Conly
4 B, Cand D only
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3, FHAAA BHRC
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[Question ID = 582][Question Description = 127_0_GP22_SEP22_S2_Q27]
1. 1 [Option ID = 2325]
2. 2 [Option ID = 2326]
3. 3 [Option ID = 2327]
4. 4 [Option ID = 2328]

23)
Which informal logical fallacy is committed in the following statement?

“If you give him an inch, he will take a mile.’

1. Slippery slope

2, Appeal to force

3. Appeal to authority
4, Hasty generalization

FTciad 59 $UA H SN ao ol & Tia gF 94 TP 39 G|, 76 98 U9 Hig o ol ?

1. TFaeq W eam (Rl =m)
2. 50 e

3. U¥aR T8

4 Afagiid S

[Question ID = 583][Question Description = 128_0_GP22_SEP22_S2_Q28]
1. 1 [Option ID = 2329]
2. 2 [Option ID = 2330]
3. 3 [Option ID = 2331]
4. 4 [Option ID = 2332]



24)
Given below are two statements:

Statement |: I the Aristotelian syllogism, the major term and the minor term stand apart in the premises
though they are connected by the middle term with each other.

Statement II: In Nyaya syllogism, all the three terms stand synthesised in Upanaya.
In light of the above statements, thoose the most appropriate answer from the options given below:

. Both Statement | and Statement |l are correct

. Both Statement | and Statement || are incorrect

. Statement | is correct but Statement |l is incorrect
. Statement | is incorrect but Statement |l is correct
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[Question ID = 584][Question Description = 129_0_GP22_SEP22_S2_Q29]
1. 1 [Option ID = 2333]
2. 2 [Option ID = 2334]
3. 3 [Option ID = 2335]
4. 4 [Option ID = 2336]

25)
Which of the five essential characteristics of the middle term (hetu) is violated when an inference involves

a nan-inferentially contradicted middle?

. Middle term must be absent in all negative instances in which the major term is absent.
. Middle termy must be non-incempatible with the minerterm,

. Middle term must be present in the minor term,

. Middle term must be present in all positive instances in which the major term Is present,
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[Question ID = 585][Question Description = 130_0_GP22_SEP22_S2_Q30]
1. 1 [Option ID = 2337]
2. 2 [Option ID = 2338]



3. 3 [Option ID = 2339]
4. 4 [Option ID = 2340]

26)

Miss Anita is excited to use a new software which is freely available to download but she cannot modify

or change the source code, Anita is using:

1. Freeware
2, Open-=source software
3, Firmware
4, Liveware
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[Question ID = 586][Question Description = 131_0_GP22_SEP22_S2_Q31]
1. 1 [Option ID = 2341]
2. 2 [Option ID = 2342]
3. 3 [Option ID = 2343]
4. 4 [Option ID = 2344]

27)

Miss Madhu clicks on a web link received in a8 message on her phone which promises her a
complimentary trip to a destination of her choice. She forwarded this message to her friend, Arun and
asked him to do the same. But Arun refuses and tells Madhu that her personal and private information,
such as online account names; login information and passwords can be stolen and she should be careful

of such attacks:

1. Phishing

2. Spamming
3. Scamming
4, Plagiarism
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TP THFT O & 994 1601 T 8| 394 U (03 3 @] 98 4o¥ #FUd oY o4 4l g8l &4 o $al
T oY H SBR B 641 3R 7Y ¥ @el [& 3Hd ez @ral 9M, disd g4 SR urgds gl

Fafaae IR ol g g0s ST asd g SRS U EHdl ¥ Fraee 8 Fiee|

1. et

2, HudggA

3, AETSI (®HiE

4,4

[Question ID = 587][Question Description = 132_0_GP22_SEP22_S2_Q32]
1. 1 [Option ID = 2345]
2. 2 [Option ID = 2346]
3. 3 [Option ID = 2347]
4. 4 [Option ID = 2348]



28)
Given below are two statements:

Statement I: The binary eguivalent of decimal number (19)1gis (10101)2.

Statement II: (1011)z + (110)z = (10101):

In light of the above statements, thoose the correct answer from the options given below;

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3., Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true
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[Question ID = 588][Question Description = 133_0_GP22_SEP22_S2_Q33]
1. 1 [Option ID = 2349]
2. 2 [Option ID = 2350]
3. 3 [Option ID = 2351]
4. 4 [Option ID = 2352]

29)
Individuals participating in online communities can remain anenymous and create fictitious personas, The

ethical concern of this anonymity is that it

1. facilitates engagement in unethical behavior,
2, promotes free expression of ideas,
3, enables the government to check the background of communities.

4 simplifies business market research,
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[Question ID = 589][Question Description = 134_0_GP22_SEP22_S2_Q34]
1. 1 [Option ID = 2353]
2. 2 [Option ID = 2354]
3. 3 [Option ID = 2355]
4. 4 [Option ID = 2356]



30)
World Wide Web (WWW) was invented by whom?

1. Alan Turing

2. Steve lobs

3. Bill Gates

4, Tim Bermers-Lee
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[Question ID = 590][Question Description = 135_0_GP22_SEP22_S2_Q35]
1. 1 [Option ID = 2357]
2. 2 [Option ID = 2358]
3. 3 [Option ID = 2359]
4. 4 [Option ID = 2360]

31)
Dissolved Oxygen (DO) is impoertant for

1. Drinking water

2, Raim water

3, Underground water
4, River water

faaig sifaien Fefafay & fou Teagl & -
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[Question ID = 591][Question Description = 136_0_GP22_SEP22_S2_Q36]
1. 1 [Option ID = 2361]
2. 2 [Option ID = 2362]
3. 3 [Option ID = 2363]
4. 4 [Option ID = 2364]

32)
The only energy source which is not in anyway related to Surn is

1. Hydro

2, Tidal

3, Wind

4, Geothermal
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[Question ID = 592][Question Description = 137_0_GP22_SEP22_S2_Q37]
1. 1 [Option ID = 2365]
2. 2 [Option ID = 2366]
3. 3 [Option ID = 2367]
4. 4 [Option ID = 2368]

33)
Solar ponds

A, preduce potable water

B. are thermal energy collectors

C. use salt gradient to inhibit heat loss:

D. are used for swimming in cold regions

E. produce heated water

Choose the correct answer fram the options given below;

1.4, Band Conly
2.8, Cand Eonly
3.4, B, Cand Donly
4.8, C,DandE only
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[Question ID = 593][Question Description = 138_0_GP22_SEP22_S2_Q38]
1. 1 [Option ID = 2369]
2. 2 [Option ID = 2370]
3. 3 [Option ID = 2371]
4. 4 [Option ID = 2372]



34)
Which of the following are Green House Gases?

A. Carbon dicxide

B. Nitrogen dioxide

C. Methane

D. Chiorofluorocarbons

E, Benzene

Choose the correct answer from the options given below;

1.4, Band Conly
2.A B Cand Donly
3.A Cand Donly
4,.C,Dand Eonly

faffed g9 e H g eea e g 7
A, BIe 315 SHiFBEs

B, FIEEIoH BI5 HlaEs

C. Higq

D. TIRIGEAR] BIE-4

£ g

14 fau 70 fawedl 5 § 981 I g9 ;

1.FaAA, B AR C
2. FaTA, B CRD
3, FHEAA C3HRD
4, FaAC, DHARE

[Question ID = 594][Question Description = 139_0_GP22_SEP22_S2_Q39]
1. 1 [Option ID = 2373]
2. 2 [Option ID = 2374]
3. 3 [Option ID = 2375]
4. 4 [Option ID = 2376]

35)
Given below are two statements:

Statement I: Millennium Development Goals (MDGs) had a total of 31 targets-to be achieved by 2015.
Statement li: There are 8 goals in MDGs and 17 in SDGs,
In light of the above statements, thoose the correct answer from the options given below;

. Both Statement | and Statement |l are true
. Both Statement | and Statement || are false
. Statement | is true but Statement Il is-false

J5 WM =

. Statement | is false but Statement [l is true
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[Question ID = 595][Question Description = 140_0_GP22_SEP22_S2_Q40]
1. 1 [Option ID = 2377]
2. 2 [Option ID = 2378]
3. 3 [Option ID = 2379]
4. 4 [Option ID = 2380]

36)
Which Committee/ Commission siressing upon weomen's education stated that "women's and men’s

education should have many elements in ‘common, but should not be in general, identical in all respects,

as is usually the case today."

1. Kasturirangan Committee
2. Radhakrishnan Commission
3. Anandkrishnan Committee
4, Kothari Commission
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[Question ID = 596][Question Description = 141_0_GP22_SEP22_S2_Q41]
1. 1 [Option ID = 2381]
2. 2 [Option ID = 2382]
3. 3 [Option ID = 2383]
4. 4 [Option ID = 2384]

37)
Which of the following is the correctfull form of NIDI?

1. National Institute of Distance Instruction
2. National Intellectual Data Initiative

3. National Inter Development Institute

4, National Initiative for Design Innovation
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[Question ID = 597][Question Description = 142_0_GP22_SEP22_S2_Q42]
1. 1 [Option ID = 2385]
2. 2 [Option ID = 2386]
3. 3 [Option ID = 2387]
4. 4 [Option ID = 2388]

38)
The Univessity Grants Commission (UGC) covers the following:

A, Universities-

B. University Teaching Departments

C, Affiliated colleges

D. Teacher Training Institutions

E. Nursing Institutions

Choose the correct answer fram the options given below;

1.4, Band Conly
2.A Dand Eonly
3.4 Band D only
4. B, Cand D only
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[Question ID = 598][Question Description = 143_0_GP22_SEP22_S2_Q43]
1. 1 [Option ID = 2389]
2. 2 [Option ID = 2390]
3. 3 [Option ID = 2391]
4. 4 [Option ID = 2392]



39)
Which of the fellowing is the name of the founder of Classical Indian School of Logic?

1. Kumaril
2. Kautilya
3. Gautam
4, Isvarkrishna
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[Question ID = 599][Question Description = 144_0_GP22_SEP22_S2_Q44]
1. 1 [Option ID = 2393]
2. 2 [Option ID = 2394]
3. 3 [Option ID = 2395]
4. 4 [Option ID = 2396]

40)
Given below are two statements:

Statement I: According to NEP-2020, all funding agencies of Research in the country will merge into a
single entity - National Research Foundation (NRF).

Statement II: The main objective of NRF is to catalyze guality research in our country.
In light of the above statements, thoose the correct answer from the options given below;

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [ is true
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[Question ID = 600][Question Description = 145_0_GP22_SEP22_S2_Q45]
1. 1 [Option ID = 2397]
2. 2 [Option ID = 2398]
3. 3 [Option ID = 2399]
4. 4 [Option ID = 2400]



Topic:- 14_GP_SH2_Set2_C

1) The mechanism of commaodification invelves platforms: transforming enline and offline objects, activities,
emotions and ideas into tradable commuodities, These commuodities are valued through four different types
of currency: attention, data, users and money, Commoadification is intensified by mechanisms of datafication
as the massive amount of user data is collected and processed by online platforms:

This provides insight into users’ interests, preferences and need at particular moments in time. It also ties
into mechanisms of selection as-these usets are connected with personalized services and advertisements.
Commadification includes, but does not equal, business models of singular platforms. Rather, the
mechanism plays out in the multi-sided markets created through the platform ecosystem, which connects
the infrastructural core with sectoral platforms.

Commodification mechanisms are simultaneously empewering and disempowering to users. The connector
platforms allew individual users to market their personal assets or experiences online- be it it their
apartments, ride, eyewitness report or video. They help commaodity users’ activity, enabling users to become
entrepreneurs in their ewn right. On the ether hand, the same platform mechanisms of commodification
involve the exploitation of cultural labour, labour of users and on-demand servics workers. Furthermore,
these mechanisms lead to a concentration of econemic power in the hands of a few platform owners and

operators who act as aggregators and gatekeeping mediators.

When ideas and emotions are converted into tradable commodities, it is a form of

1. Transformational trade.
2. User preference.

3. Commodification.

4. Currency manipulation.
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[Question ID = 601][Question Description = 146_0_GP22_SEP22_S2_Q46]
1. 1 [Option ID = 2401]
2. 2 [Option ID = 2402]
3. 3 [Option ID = 2403]
4. 4 [Option ID = 2404]




2) The mechanism of commod|fication invelves platforms transforming enline and offline objects, activities,
emotions and ideas into tradable commeodities, These commuodities are valued through four different types
of currency: attention, data, users and money, Commoadification is intensified by mechanisms of datafication
as the massive amount of user data is collected and processed by online platforms:

This provides insight into users’ interests, preferences and need at particular moments in time. It also ties
into mechanisms of selection as-these usets are connected with persenalized services'and advertisements.
Commuodification includes, but does net equal, business models of singular platforms. Rather, the
mechanism plays out in the multi-sided markets created through the platform ecosystem, which connects
the infrastructural core with sectoral platforms.

Commodification mechanisms are simultaneously empowering and disesmpowering to users. The connector
pletforms allew individual users to market their personal assets or experiences online- be it it their
apartments, ride, eyewitness report or video. They help commadity users’ activity, enabling users to become
entrepreneurs in their ewn right. On the ether hand, the same platform mechanisms of commodification
involve the exploitation of cultural labour, labour of users and on-demand service workers. Furthermore,
these mechanisms lead to a concentration of economic power in the hands of a few platform owners and
operators who act as aggregators-and gatekeeping mediators.

When massive amounts of user data are processed by online platforms, it is known as

1. Personalisad service
2. Selection mechanism
3. Data ecosystem

4, Datafication
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[Question ID = 602][Question Description = 147_0_GP22_SEP22_S2_Q47]
1. 1 [Option ID = 2405]
2. 2 [Option ID = 2406]
3. 3 [Option ID = 2407]
4. 4 [Option ID = 2408]



3) The mechanism of commodification invelves platforms transforming enline and offline objects, activities,
emotions and ideas into tradable commeodities, These commuodities are valued through four different types
of currency: attention, data, users and money, Commoadification is intensified by mechanisms of datafication
as the massive amount of user data is collected and processed by online platforms:

This provides insight into users’ interests, preferences and need at particular moments in time. It also ties
into mechanisms of selection as-these usets are connected with persenalized services'and advertisements.
Commuodification includes, but does net equal, business models of singular platforms. Rather, the
mechanism plays out in the multi-sided markets created through the platform ecosystem, which connects
the infrastructural core with sectoral platforms.

Commodification mechanisms are simultaneously empowering and disesmpowering to users. The connector
pletforms allew individual users to market their personal assets or experiences online- be it it their
apartments, ride, eyewitness report or video. They help commadity users’ activity, enabling users to become
entrepreneurs in their ewn right. On the ether hand, the same platform mechanisms of commodification
involve the exploitation of cultural labour, labour of users and on-demand service workers. Furthermore,
these mechanisms lead to a concentration of economic power in the hands of a few platform owners and
operators who act as aggregators-and gatekeeping mediators.

Commodification mechanism has its place in

1, Traditional business models
2. Multisided markets

3. Online supportsystems

4. Single commodity markets
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[Question ID = 603][Question Description = 148_0_GP22_SEP22_S2_Q48]
1. 1 [Option ID = 2409]
2. 2 [Option ID = 2410]
3. 3 [Option ID = 2411]
4. 4 [Option ID = 2412]



4) The mechanism of commaodification invelves platforms transforming enline and offline objects, activities,
emotions and ideas into tradable commeodities, These commuodities are valued through four different types
of currency: attention, data, users and money, Commoadification is intensified by mechanisms of datafication
as the massive amount of user data is collected and processed by online platforms:

This provides insight into users’ interests, preferences and need at particular moments in time. It also ties
into mechanisms of selection as-these usets are connected with persenalized services'and advertisements.
Commuodification includes, but does net equal, business models of singular platforms. Rather, the
mechanism plays out in the multi-sided markets created through the platform ecosystem, which connects
the infrastructural core with sectoral platforms.

Commodification mechanisms are simultaneously empowering and disesmpowering to users. The connector
pletforms allew individual users to market their personal assets or experiences online- be it it their
apartments, ride, eyewitness report or video. They help commadity users’ activity, enabling users to become
entrepreneurs in their ewn right. On the ether hand, the same platform mechanisms of commodification
involve the exploitation of cultural labour, labour of users and on-demand service workers. Furthermore,
these mechanisms lead to a concentration of economic power in the hands of a few platform owners and
operators who act as aggregators-and gatekeeping mediators.

Commaodification mechanisms are

1. All powerful

2. Data producers

3. Legacy institutions

4. Paradoxical instruments to users:
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5) The mechanism of commuodification involves platformstransfénﬁing online and offline objects, activities,
emotions and ideas into tradable commedities. These commadities are valued through four different types
of currency: attention, data, users and money, Commoadification is intensified by mechanisms of datafication
as the massive amount of user data is collected and processed by online platforms:

This provides insight into users’ interests, preferences and need at particular moments in time. It also ties
into mechanisms of selection as-these usets are connected with persenalized services'and advertisements.
Commodification includes, but does not equal, business models of singular platforms. Rather, the
mechanism plays out in the multi-sided markets created through the platform ecosystem, which connects
the infrastructural core with sectoral platforms.

Commodification mechanisms are simultaneously empowering and disempowering to users. The connector
pletforms allew individual users to market their personal assets or experiences online- be it it their
apartments, ride, eyewitness report or video. They help commadity users’ activity, enabling users to become
entrepreneurs in their own right. On the other hand, the same platform mechanisms of commuodification
involve the exploitation of cultural labour, labour of users and on-demand service workers. Furthermore,
these mechanisms lead to a concentration of economic power in the hands of a few platform owners and
operators who act as aggregators-and gatekeeping mediators.

The passage presents the different facets of

1. Online empowerment

2. Online business models

3. Sectoral platferms

4. Cammadification ef intangible assets
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